FINGERPRINT CABINET LOCK

USER MANUAL

1. How to add fingerprint (Max 100 fingerprints)

—Put a finger on sensor, green light with "Beep, Beep", holding, green light with
"Beep", then remove(or press * for 2 seconds, enter user password or master
password and #,enter 4 # )

—Blue light, put a finger on, "Beep" then remove

—Put the finger on, a beep then remove; repeat until green light with "beep,beep
(The fingerprint is registered)

\ —Blue light, add more new fingerprints
fRegistered A |
| @ ) Green Blue
O (\ i 4 A / Finger\?
light color change 1 |
) Green BeepBeep | \LDEQ grE;n Ilghi[/ S
\Gréen Beep f: ethep :ED Step 4
= Step 1 ’
________________________________________________________
2. How to change user password (Factory Setting: 1-2-3-4)
| L - —Press * for 2 seconds, "beep,beep”
/ y —Enter current user password (or master password) and #, "beep,beep”
___/ \J / —Enter 1#,"beep,beep"

Feature
1. Biometric fingerprint sensor, sensitive and responsive

2. Programmable master password and user passward
3. 100 fingerprints and passcode for multiple user
4_\Videly used in drawer, cabinet or locker etc.
5.Zinc-alloy panel with elegant design

6. E-Key for emergency key and management

Installation Instructions

—Enter new use password and #, "Beep, Beep", new use password enabled

o« I "1234" (Sample) i # [ “1# [ "0000" (Sample) | #

3. How to change master password (Factory Setting: 54-3-2-1-5)

—Press * for 2 seconds, "beep,beep”

—Enter current master password code and #, "beep,beep”

—Enter 2#,"beep,beep”

—Enter new password and #, "Beep, Beep", new master password enabled

545215 campe B # 2 # [ 111 1 ool |

All-in-one installation—Chart (@

4. How to unlock
1. Password

—Enter user password or master password and #, "beep,beep”, unlocked

—Pull door open

2. Fingerprint

"000 0" (Sample) el #

—Put any registered fingerprint, "beep”, holding, green light then "beep beep”,

unlocked
—Pull door open

4. How to set mode
—Insert E-Key

How to initialize the lock

ttt

— >

—Insert E-Key (__ﬁ
—Enter 11# , "beep,beep” system

Initialized [U
Note: System Iinitialized, all fingerprints ]
deleted, user password: 1-2-3-4, master -
password: 5-4-3-2-1-5

Other Function [ A

UKey

1.Insert E-Key
2 Pull the door open

ttt
11

2. Low Battery Warning

1.1f "Beep Beep ..
new battery in time

' 6 sounds after door opened

2. Note: Use 3XAAA alkaline battery, not take Carbon battery

3. Emergency power

. It Indicates low battery then change

—Enter 44#1#, automatic mode enabled

—Enter 44#2#, manual mode enabled
—Enter 44#3#, public mode enabled

“114#7
(System Initialized) - N

E— —

‘A4#1#
(Automatic Mode)

44 H2HF
(Manual Mode)

=
rtt
:1|]

N /

5. How to lock

1. Individual Automatic Mode

—Push the door closed, door locks automatically
2. Individual Manual Mode

—Push the door closed

—Enter #, latch comes out, locked

3. Public Mode

—Push the door closed

—Enter any password and #, "beep,beep”
—latch comes out, locked

® Can be connected to a power bank or mobile plug for external power supply
when the power is low. Replace the battery after unlocking.

® Password error and low battery occur at the same time,

external emergency.

ST13.5x18

1. Put the installation drawing on the door, approx. 45mm between the door
frame and center hole (Picture 1), then drill the hole

s K
\ . |
€& ceilin N
0 pane 1 N 0
O |
S Picture 1

wire connection

& |

(T

i I

. v X

2. Install the front panel and Lock Body

2.1) All-in-One installation

Wire goes through the center hole and connect Lock Body, (Tide up the wire not
crush), fix the panel and Lock Body by screw M4X18

2.2) Separation installation

Wire goes through the center hole and fix the front panel by screw M4X16 and
washer, then connect the Lock Body, (Tide up the wire not crush), fix Lock Body
by screw ST13.5X18

3. Fix the striking plate by screw ST13.5X18(Make sure latch works well)

SCrew

INSTALLATION DRAWING

@ Screw

i
|
|
|
/— Door / Lock Body Cover o pinet side wall :
k) - "-‘»31::::27 I
|III |
3-910—, Lock B@yﬁ striking plate | l"-.ﬁ :
Front Panel i Y ‘ I"'H |
O— al | |
oy | =The thick fl | E | |
N rarsee” N N~
% % B =/ | 4
% ________________.:_—-—_:——”"_'—:a - -J:l:_'.j@ -.. & llfl |
i I'.I |
% O f/ Picture3 - — \ |
|
0
& l
_\_\\\ .
" S @ Door Thickness(mm) Gross gﬁt‘gﬁrs“”k :
N |
Picture 2 1 T4mm~18mm M4X18 |
_ 2 16mm~20mm M4X20 |
. 10MM
________________________________________________________ I
Separate installation@
ST3.5x18
_,r”“_DG':'r screw ——
"f*\ cabinet side WEH_L -

—
=

Front Panel striking plate |

10MM

04MM

iInsert the E-key and

Follow the drawing to drill the hole

@ |
L=The thickness of | | £ m | Co M PO N E NT
. | the door plank 2 N
— | =
? ‘I? M 4*1 6 : | - @ Ilf! \\. ( @ )
'., (7 N\ " Indicator
SCIew Picture3 ‘\__ —— \
Washer e
Lock Body Cover gg N
. Phillips pan 90 | <
7 @ Door Thickness(mm)| | cad Screw gg S
Picture 2 1 12mm~16mm M4X14 09 22 l )
- - 16mm~20mm M4Xx16 Front Panel Lock Body

Aoy

E-key

all

)

\

®

v

Striking Plate

B, EEE

TTTT
Uiy

Connecting Wwe&Screws

—

44 #3F
(Public Mode)



http://www.tcpdf.org

